RAAREXERZEF7ORERKEXRZZFRRRAT—IHEERFEETFER

FR26%E12A218
AEHPFVCERR 7 —h 25—

HEBF  500m R
JEHz K % OB ERE % =
1 ERZE R INBER 38.56
2/h8 BX BREK 39.58
IERE INBER 39.72
4B Hl R Z1 39.93
5 EfE %7 AR AR 5% 40.29
6 FFE Fid EAREEK 40.34
7 AR BRI EARESK 40.44
8 Rk IEI& EREK 41.39
9 /MK BF MIIRFEKR 57.19
DHEREF  1000m FiE
[148]
[i:ts K % OB 2 &% B £ % =
1ERE K INBEER 1.17.67 52
2 3B KE EAREEK 1.17.84 5T
3/h#k B ML RFEKR 1.28.84 5T
4 B0 BE— EHIEERK A4 LIEL 1.17.70
58m Sl R =1 AL L 1.18.03
6 LiE %7 E AR A4 LIEL 1.22.42
7 Rk Bl EREK A4 LI 1.35.05
[248]
[i:ts K % OB 2 &% B £ % =
1EREZE K INBEER 1.18.54 5T
2 7% FE EAREEK 1.22.98 5T
3/hE BX BREK A4 LI 1.19.24
4 KfE X1 E AR A4 LIEL 1.21.99
5RE thiE BRER AA L 1.32.00
6 AR AATR EARESK A4 LIEL 2.02.00



MEFRF  1000m  REE

{3 K % OB 2 % B £ % =
1EREZE K INBEER 1.16.82 52
2 #iE KE EAREEK 1.16.86 5T
3 FE FE EARESK 1.42.86 o=
4 gRE K INBER A4 LIEL 1.16.92
5 /h#k B ML EFEKR A4 LHEL 1.17.63
6 B0 BE— EHIEERK A4 LIEL 1.18.55
7 KM XIE EAESK A4 L 1.18.74
8 /hNE BX BREK B4 LFL 1.38.07

DHEREF  1500m FiE

[148]

[i:ts K % OB 2 % B £ % =
15T ¥ INBEER 2.04.73 =
20 BE— EHIEERK 2.04.93 5T
3 AM X AR EFR 5 2.04.98 5T
4 il KE EARESK 2.05.22 5T
5FF Rl ML EHEKR AL LHEL 2.18.65
6 X5 thiE N A=Y A4 LIEL 2.20.96

[248]

{3 K % OB ERE B F % =
150 R= miIREFEK 2.02.23 5T
2 [RE =44 WM —EEK 2.02.31 5T
3 =Mk S N A=Y 2.02.34 5T
4 Bl ==K HBER=EK 2.02.37 o
545HF BN miIREHFEK 2.02.52 5¢



DEBF  1500m  REE
{3 K % OB 2 % B £ % =
1 [REA WM —EEK 1.58.61 5T
2 3 KB EARESHK 1.58.77 5T
3ET # INBEER 1.59.35 <
4 B0 R miREFEK 1.59.62 5T
5 AM X AR EI IR 5 2.04.10 5T
6 fLIU ==K HBEK=EK A4 LIEL 1.58.71
7i=pE EN BRER A4 L 1.59.09
8N FE— REIEER B4 LFL 1.59.69
HEREF 5000m FiE
[148]
{3 K % OB EIE B £ % =
1 [REA WM —EEK 6.58.98 5T
2tE & EHEREK 6.59.57 5=
3R mEk INBEER 7.08.90 5T
4 IMNFR FHK EARESK 7.09.30 5T
5 Rk HB miikHFEK 7.09.79 o=
6 FiE BIK BRE&R EEPNAD 6.59.83
7FE R ML EFEK A4 LI 7.28.08
[248]
{3 K % OB 2 % B £ % =
1 SH 8 MmiIRHFEK 7.04.01 5T
2 Al =K HBEAX=ZEK 7.05.24 5
3fEA 3 ML RHFEKR 7.05.45 5T
4 BT % INBER 7.05.68 =
5%  FiiE EARESK 7.24.67 o=
6 /MR X INBER EEPNAD 7.24.99
7i=BE EN BREKR A4 LI 7.49.58



DEBF  5000m R
{3 K % OB 2 % B £ % =
1 ik &8 miIikEFEK 6.46.02 5T
2 IpFE FK EAREEK 6.48.07 5T
IM FiiE EAREEK 6.49.04 o=
4 5HF BN miREFEK 6.49.53 5T
55T # INBEER B4 LITL 6.48.65
6 [RE £ W —EEK A4 LIEL 6.49.96
1T1rE B RHERER A4 L 6.50.13
8 AL ==K RBAX=8K B4 LFL 6.50.80
9RO R ML EFEK AA LI 6.50.83
10 &R =ak INBERR B4 LFEL 6.56.83
" FE BIK BRE A4 LI 7.00.69
12 INE K INBER DNF
HEBF 10000m R
JEHz K % OB ERE B F % =
18 FE EAREEK 14.44.74 5
2 IpFR FHK EAREEK 14.45.00 =
STE & EHEREK 14.45.26 5
4 Rk BB miikEFEK 14.45.52 o
5 &R Ak INBER A4 LTIEL 3 15.17.61
6 {FEE BAK BREKR AA LI 1 15.17.41
7 Mk 2K INBER A4 LIEL 15.32.65
LELF 500m R
JEHz K % OB ERE % =
1 B £/ EAREEK 42.21
2 EE HE FHIL TR 42.87
3 AXF FME=R 42.98
4 INE HBFIF AR EI IR 5 46.15
5 &% W% ML EH K 47.76



MELZF  1000m  REE
K £ OB 2 % B £ % =
1 R =R/ EARESK 1.24.74 52
2 EE HE RS 1.30.56 5T
3 AEF RIS 1.45.02 o=
4 MK FiK FME= A4 LIEL 1.27.09
5#iE IEx EARESK A4 LHEL 1.30.16
6 /NE EFIF E AR A4 LIEL 1.33.49
7 RE ®/E ML EFEK A4 L 1.34.31
LELZF 1500m FiE
K % R ERIE B F % =
1 Heh #1F HBER=EK 2.16.21 5
2 ik W& EhEEER 2.16.22 52
JHIE mE miIREFEK 2.16.29 5T
4/ F0FE EAREEK 2.16.38 =
5 HR R#A FMBE= 2.16.70 5
6 K E# INBEER DNS
K £ OB 2 % B 7 % =
1R K RIS 2.16.73 o
2 BB EE miIREFEK 2.16.78 5T
3 HHY WM —EEK 2.16.87 5T
4 il IEX EARESK 2.16.89 5T
5 A BE TR B E R 2.17.35 o=
6 Lix BEEF A RS A4 LIEL 2.20.99



PVELZF 1500m REE

[148]
JEHz K % OB ERE B F % =
1R 08 EARESK 2.12.24 5T
2 RK 3K RIS 2.12.76 52
3 HhY W —EEK 2.29.88 5T
4 BHF BT miikEFEK AA L 2.12.90
5 fEk W& WEREEER A4 LIEL 2.13.22
6 #iE o EAREEK AA LI 2.13.83
7 #iB REF miIREFEK AL LITL 2.15.25
8 Hh #HF RBR=EK A4 L 2.56.46
DELZF  3000m RE
[i:ts K % OB 2 % B £ % =
1R s EAREEK 4.38.26 5T
258 HhY W —EEK 4.38.70 5T
3H% MF HEBERX=5# 4.39.14 <
4 HHxE BT miIREFEK 4.39.48 5T
5 #iH RE ML EHEKR 4.43.48 5T
6 8k W& WEREEER 44355 5¢
7R EE TR B E R AA LI 4.42.35
8 LiF EEF AN =R 5 B4 LFL 5.07.56
9 HR R#A FITE =R A4 LI 5.20.01

KEF Fw INBER DNS



	70国体予選

